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2019 (S) ey

SSC PART-ll (10th CLASS)

sz
210 = &
60 = AF
-g‘-_@.u{_;f.;_,;."lrﬁé b»/-,;’smﬂ/:}dlrd;,;qwiﬁ -
and its part number on answer book, as given in the question paper.
SECTION-l Ji»
12=2x6

GENERAL SCIENCE

TIME ALLOWED: 2.10 Hours SUBJECTIVE &2

MAXIMUM MARKS: 60

NOTE: Write same question number

_éfjuuf[.lfuc,df -2

2. Attempt any six parts.

)

Define work and wirte its formula.

-.u“ i "delﬁul ”/r\.,ﬁr/d‘fdﬂ

(1)

(i

(i) Whatis Elastic Potentiai Energy? fe drt,fn,?-ﬂd“;-l?tk' (ii)
(i)  Differentiate between Nuclear Fission and Nuclear Fusion. ~qu)u~Jfﬁj/°§;Js' A il
(iv) Whatis Law of Conservation of Energy? el WP F 3 (i)
(v) How the Natural Gas is measured? . L}lod/é(u"'r Jujdz»’ (v)
{vi} Define Environment. -J/J/’JLJJ’L (vi)
(vi) Write the names of two components of a Circuit. —u’fO[:LLI Wl Sy (vil)
(viii) Write two uses of fixed capacitor. s HUWU:&/ 4 (viii)
(i) What is meant by Gang Capacitor? Lt B (i)

3. Attempt any six parts.

i)

12=2x6
How step up transformer is different from step down transformer?

Erferlinge 3 340

.:‘._JL"V)’U C—/JLV'/QN}._/’ :/;wa“/..«l...,f

(i

( )
(i) How electric wires becomes hot and catch fire? s A /’;"r]C/’J/FZ—y (it}
(i) Describe the use of multimeter. -\,{/UEJP’"WUA (iif)
(iv) Define Doping. S ()
(v} What are Semiconductors? ‘U Z-KL"’J,"&‘KJE (v)
(vi) Define Rediification L AHAE i
(vi) What is the frequency of Radio waves? ":-L-}ruy s ;g/;d/iﬁ.’sa’é/ (vii)
(viii) Differentiate between outputandinput deviges, -gful,J}u.uULf sJ'JJ'»-f—«JT (viii)
(ix) How E-mail is different from voice mail? & J-’Z,/’J/:— -u”" e (ix)

4. Attempt any six parts.

12=2x6

-g‘,{,/fuuﬁd:’ﬂ{c_df -4,-,‘er

() Write the application of Laser in Surgery. uqudt-?"fwufdz/ (i)
(i Define Isotopes. ~§:~—?/’Fd/u¢ ST i)
(i) Write the two uses of Ultrasound. LSl P il
(iv) What is Bagasse and Molasses? fur Lfyijr'n'uf%i (iv)
(v} How Steel is made harder? YQJL?J '-_&:C)’u’( C-fulel (v)
(vi)  Whatis meant by C.T Scan? f‘g. ;i/l_,f’.;u'fd-pf (vi)
(vii) Write the uses of nuclear radiation in the medicine. -gi}j’"‘)b?lw{bﬁ/’-:ﬁ&u:uf%f (vii)
(viil) What is Space Suit? el Lyt (il
(ix) Write the two basic objective of SUPARCO. -4{‘@6:&%»5 ’Ck (ix)

NOTE: Attempt any three questions.

SECTION-Il o2

24=8x3

-g{.{f;@fﬁia Ulfu-;c.Jf -

5.(A) Describe two traditional methods of producing electricity. 4 UL E FGuml L S S (s
(B) Write down four steps to minimise environmental degradation. 4 ;_i‘ff/_.l.l,dbbﬁ .J_/?Tdflduft ()
6.(A) Write two types of capacitors and their two uses. 4 -g‘“‘...uwlnf.u'u*fu'»«f /—‘f (31).6
(B) What are direct and alternating current? Write their uses. 4 J"{_,Ubfld,. oSl e B L3 ()
7.(A) Explain N-type and P-type semi-conductors. 4 Lo u,.,p,&fd“ - L'Léjﬁh—/u'u‘ (.7
(B) Write a note on Radio System. 4 e _,.w(‘/iu Lgad

8.(A) Write four benefits of Radio Isotopes. 4 -u’/g_,w!;’;biu"w Wi ()-8
(B) Highlight the importance and benefits of steel mill. J‘Jf:nﬂfu':’z:'-f'JJf ()
9.(A) Write Pakistan Atomic Energy 4 J,L»Jw{j/u bt L o, L3 A (g

Commission's Services in the achievement of Nuclear Energy for peaceful purpose.
(B) What is the role of Atomic Energy Commission in 4 &’.?_,u/g s’ff&/'f..fwut;f&ud;» Ceed

the field of medicine?

42—2019(8)-5}_‘%_’\ (MULTAN)
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PAPER CODE 2019 (S) s
SSC PART- (10th CLASS)

NUMBER: 3091

GENERAL SCIENCE sz
TIME ALLOWED: 20 Minutes OBJECTIVE d.‘?/".a? L 20 = s
MAXIMUM MARKS: 15 15= AF

Ao i Lui;u;h“f'&u:»&vszuaa.;i g,'.u’béé_:&l/r’:_g,hrﬁ{(é((}fﬁ -ufé:}: D CBA &Llﬁﬁkéd'fﬁ oY
EIE LY/ -b’é_lggau.?"/f.'éjfﬂ:dﬂd/ Py ff)sﬁh _s’mﬂf"wgﬁuﬁuf;mﬁ_& BT { k L,flfu,ébuya...._ﬁ Wil
Note: you have four choices for each objective type question as A, B, C and D. The choice -u_‘ﬁd’?jr.:.. Uy
which you think is correct, fill that bubble in front of that question number, on bubbie sheet. Use marker or pen
to fili the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) One British Thermal Unit is equal to how many Joules? S tonele )2 Z&gd’;‘j"/uﬂ (1
(A} J# 1055 Joule (B) J# 1050 Joule (C) U2 1045 Joule (Dj J2 1040 Joule

(2) The traditional method of producing of Electricity is: -i.‘-_.:w';}:'u‘a’é,,ﬁﬁﬁ (2)
(A) Solar Power ug)r (B) Thermal power JJ&J/? (C) Wind power .| £s (D) Tidal power u_g;_)}a’v

(3) Which type of energy is gained from Nuclear Fission? ‘.‘q_. :}nd‘llodifu(({)/a. f/—”;s (3)
(A} Light energy J.}ld’{;ﬁ;, {B) Chemical energy &)luﬁé‘{
(C) Heat energy gf.}l(jﬂ,? (D) Electrical energy d./'fﬁ}‘?-'

(4) The S.1 unit of capacitance is: st 5 b’J‘-Ji‘r (4)
(A) Coulombre (B) Farad 4 ¢ (C) Newton &/ (D) Joule Jz

{6) The opposition to the flow of chargeis called: -:.‘:"L}M::i.sb’;uﬂi L L@Jk‘ (5)
(A) Resistance U, | (ByShunt wi* (C) Gravity £+ (D) Viscosify i ¢-»

(6) The constantin Ohm's law is! | L LR LY (6)
(A) Current i (B} Charge Ll {C) Potential difference L,f‘ﬁ,f‘.’id'&;-’::’ {D) Resistance u’”?',:

{7) The speed of sound waves is; e Jm{»; ik (7)
(A) 4534 340 meter per second (B) 434 360 meter per second
(C) 45034 380 meter per second (D) 2234 390 meter per second

(8) The addition of impurity in semiconductors is called: ~§-L“U¢Uffc’—ﬂ'{.’£ia’v‘"u-'ﬁfryuf (8)
(A) Addition /24! (8 Rectification fﬁ % © Doping &5 (D) Conductivity (5

(9) In binary system, 37 is written as: —e bbbl 37 TS (9)
(A) 101101 (B) 100101 (C) 110011 (D) 101011

(10) Hard Disk is called: —etel 03 (10)
(A) Floppy Disk L3} (B)C.D ¢y (C) Monitor s (D) Storage Disk L3E.s

(11) The sound having frequency greater than 20 kHz is called: e Qikfotie 20 kHz FHASAT (1)
(AYE.C.G G.y.yl (B) Ultrasound &3i1Y1 (C)EEG G-yl (D) M.R.I JT_JT_;&

(12) Air traffic is controlled by: et Fe B2k (12)
(A) Laser .7 (B) Orbit is (C) Satellite 2 &~ (D) Radar /3

(13) Epilepsy is diagnosed by: e Qe 88 (13)
(A) Angiography 37 (B) MR §TTA  (C)EEG G.yy! (D) C.T.Scan . d.¢

(14) Mass number of Helium is: -?—rﬁ/f;u"i{f:w (14)
(A) 4 (B) 3 (€) 2 (D) 1

(16) SUPARCO was established in: _brf’t? ,C?L, (15)
(A) U= £1959 (B) % #1960 (C) L~ <1961 (D) < 1962

42(0bj)( 7ﬁ’)-2019(8)§f—f (MULTAN)
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|PAPER CODE 2019 (S) Py
SSC PART-ll (10th GLASS)

NUMBER: 3093

GENERAL SCIENCE JJ2
TIME ALLOWED: 20 Minutes OBJECTIVE u_"bﬁ,.m_? w20 = =
MAXIMUM MARKS: 15 15= AF

e \ SASe i 3L N e b sl Esis L Dy g Q8317 JtELE 2D 4l C B A Nz L o)
{2 -b'LbLJufé}/}quﬁajf'Jr_ﬂ,é J‘:J:}'b ab'ﬂ;:‘jwl.‘afﬁuﬂgﬂaﬂ‘tﬂ..& yorg & ustmlie gl 85
Note: you have four choices for each objective type question as A, B, C and D. The choice -L{f,&d"ﬂ:ﬁplﬂr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fili the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) Hard Disk is called: -.c‘-rLgfﬂLC;‘Lg. (1
(A) Floppy Disk L34 (B)C.D (i-y (C) Monitor <+ (D) Storage Disk i-3Eus
(2) The sound having frequency greater than 20 kHz is called: e Qlkobic 20 kHz AT (@)
(A)E.C.G G-y (B) Ultrasound 4314 (CYEEG {F-yl-y! (D) MR 7T

(3) Air traffic is controlied by: S Hg'.fd:}f:_ o ):.@/"Jln' (3)
(A) Laser 7% (B) Orbit s /C) Satellite o7 1~ (D) Radar 3L

(4) Epilepsy is diagnosed by: —G—’J‘?O:?/J:ué;{!f/ (4)
(A) Angiography 31/ (B) MR (T7£  (C)EEG J-ULyi (D) C.T.Scan 0.5

(5) Mass number of Helium is: _z‘_--t';v_}(jl.{(él"ﬂ (5)
(A) 4 (B) 3 (C) 2 (D) 1

(6) SUPARCO was established in: defE L ()
(A) U +1959 (B) Ukue1960 (C) 981 (Dt + 1962

(7) One British Thermal Unit is equal to how many Joules? Y tﬁ«:fzidﬁgfﬁiuffgjf-wﬁ (7)
(A) U7 1055 Joule  (B) J# 1050 Joule  (C) J# 1045 Joule (D) J# 1040 Joule

(8) The traditional method of producing of Electricity is: -4.4;5@54{2_//@;3’{' (8)
{A) Solar Power JJ';/'}’ (B) Thermal power J:‘;J/;‘ (C) Wind power J;y:: (D) Tidal power ugdl’t

(92) Which type of energy is gained from Nuclear Fission? e &mﬂa;mffu’a u”/:bﬁ: {9)
(A) Light energy A (8) Chemical energy u’.}i-vé‘{
(C) Heat energy JJ!CB,I.F (D) Electrical energy Lﬁ)'ﬂ/'-’:./"f

(10) The S.1 unit of capacitance is: ey S E’ﬁﬁ/ (10)
(A) Coulomb 4 (B) Farad 4 ¢ (C) Newton % (D) Joule U7

(11) The opposition to the flow of charye is called: -9&1 desn il ltue (1)
{A) Resistance ﬁ) (B) Shunt wa® (C) Gravity C:f,,ff (D) Viscosity Lf'ie

(12) The constant in Ohm's law is: -4.'&.):-5)!{/1&?5&:(‘7}‘ (12)
(A) Current i) (B) Charge Z;u:l'g {C) Potential difference gﬁﬁ\f{; (D} Resistance J‘/,u

(13) The speed of sound waves is: --{-&ﬁ%;" kil (13)
(A) % d)‘f 340 meter per second (B) y?d,f:‘ 360 meter per secord
(C) k‘?d‘/’f 380 meter per second (D) J-é?d/ 390 meter per second

(14) The addition of impurity in semiconductors is called: i e W& S (14)
(A) Addition /4! {B) Rectification J‘Ji’? (C) Doping &3 (D) Conductivity (£

{15) In binary system, 37 is written as: bbbl 37 REFTASA (15)
(A) 101101 (B) 100101 (C) 110011 (DY 101011

42(0bi)( T I)-2019(S)-7 IS (MULTAN)
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PAPER CODE 2019 (S) . A
SSC PART-I (10th CLASS

NUMBER: 3095 ( )

GENERAL SCIENCE JJ 2

*

OBJECTIVE (e 220 = s

MAXIMUM MARKS: 15 15= AF

A ch | I3l ipeene J i s L gdWiIR ~SHELED S C B A Bl 2
(a4l Ko A SISl F sty Kol itasdi oz i Se I Sk | LS s mskieak] s
Note: you have four choices for each objective type question as A. B, C and D. The choice -uf.fsd'ﬂ;-.::ulr

TIME ALLOWED: 20 Minutes

which you think is correct, fill that bubbie in front of that guestion number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filied. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1
(1) The speed of sound waves is:
(A) £ 3% 340 meter per second

(C) L?J/:' 380 meter per second

(2) The addition of impurity in semiconductors is callgd:
(A) Addition %4/ (B) Rectification 235
(3) In binary system, 37 is written as:
(A) 101101 (B) 100101
(4) Hard Disk is called:

(A) Floppy Disk 388 (B)C.D iy
(A)E.C.G G- (B) Ultrasolind 31124
Air traffic is controlled by:

(A) Laser . (B) Orbit t4
Epilepsy is diagnosed by:

(A) Angiography 3L/3%1 (B) MR JTT.Al
Mass number of Hetium is:

(A) 4 (B) 3
SUPARCO was established in.

(A) 2 #1959 (B) % »1960

(10) One British Thermal Unit is equal to how many Joules?

(A) J# 1055 Joule  (B) J#z 1050 Joule

(11) The traditional method of producing of Electricity is:
(A) Solar Power J:g)r (B) Thermal power J:&LJI/;’ {C) Wind power u’;i‘:

{12) Which type of energy is gained from Nuclear Fission?

(A) Light energy &)fdf;ﬁ;
(C) Heat energy SN
(13) The 3.1 unit of capacitance is:
(A) Coulomb 4 (B) Farad 4 7
(14) The opposition to the flow of charge is called:
(A) Resistance %, (B) Shunt wa®
(15) The constantin Chm's law is:

(A) Current 2/ (B) Charge .l

The sound having frequency greater than 20 kHz is called:

e dnby S (1)
(B) »E’d)-f 360 meter per second
(D) 2232 390 meter per second
e b (@)
(C) Doping —&+5 (D) Conductivity (525
b 37 U TASA @)
(C) 110011 (D) 101011
e PO, @A)
(C) Monitor A+ (D) Storage Disk L-3E
e Qbolids 20kHz G HEAB T ()
@ EES SB Ui (Dy M.R1 ST
A S A S R )
(C) Satellite = &~ (D) Radar 3t
P SOl R
(C)EEG G-y yl (D) C.T.Scan -5
—e b AT (8)
(C) 2 (D) 1
afE L (9)
(C) % #1961 (D) A +19682
St L2 E ey ATl (10)
(C) J# 1045 Joule (D} J# 1040 Joule
_g_,fz}&f:JKL/qﬁguL? (11)
(D) Tida! power uwi"ﬁ
e dn el e P (12)
(B) Chemical energy .54
(D) Electrical energy J./'f(ﬁ}gi
—e iy S| st (13)
(C) Newtor /% (D) Joule =
e Jl sl (14)
(C) Gravity 5 ¢/ (D) Viscosity (s
ce b ICE A (15)

(C) Potential difference Q,f":«}ijd’l’{ (D) Resistance Nes)

42(0bj)( ‘ﬁfﬁ?‘ﬂf}-zmg(aﬁﬁsz_ﬁ (MULTAN)
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PAPER CODE 2019 (S) ) s

NUMBER: 3007 SSC PART-I (10th CLASS)

GENERAL SCIENCE SR

TIME ALLOWED: 20 Minutes OBJECTIVE g‘gﬁ @t 20 = =

MAXIMUM MARKS: 15 15 = /'{L/K
Aol | SISO L s gt L sl Y632 L L D i C B A WLy S

{24~ -ré.ﬂ{g&)u-"‘fc}dfbﬁ@xﬂjL.ﬁi )fjsﬁb -tm:‘.".wuralﬁuﬁutaxfd/i./z oy L/rifu:}"bu&k:.._g L
Note: you have four choices for each objective type question as A, B, C and D. The choice ..J_J.:"J'JJ;::.JIJ!:’

which you think is correct, fill that bubble in front of that question number, on bubble shest. Use marker or pen

to fill the bubbles. Cutting or filling two or mere bubbles will result in zero mark in that qusstion. No credit will be

awarded in case BUBBLES are not fiiled. Do not soive questions on this sheet of OBJECTIVE PAPER.

i /-:Ufr

Q.No.1

(1) The S.I unit of capacitance is: —g iy Si {U":fﬁ
{(A) Coulomb Jf (B) Farad {.’,ﬁ' (C} Newion 7% (D) Joule J#

(2) The opposition to the flow of charge is called: uc‘-n}ll{{-‘d()u:%é:i'ﬂ[g
(A) Resistance % (B) Shunt wat (C) Gravity (57 (D) Viscosity &

(3) The constant in Ohm's law is: - L%J.:&‘vjﬁ,,fuﬁb“i{;f
(A) Current 2/ (B) Charge & (C) Potential difference (2 25J% (D) Resistance (™%

(4) The speed of sound waves is: --c‘-Jﬁi”{d/Jg;J:.’sL«
(A) 3K 340 meter per second (B) A% 360 meter per second
(C) 452 380 meter per second (D} €3, 390 meter per secord

(5) The addition of impurity in sefmiconductors is called: ,i;tmf:}fs’i.&&;ﬁuﬁfﬂgf
(A) Addition gﬁu}_' (B) Rectification u’-’g;dj‘: (C) Doping bf;:,ﬂ (D) Conductivity &;)}(}J}’

(6) In binary system, 37 is written as: Seblb Y BT AU
(A) 101101 (B) 100101 (C) 110011 (D} 101011

(7) Hard Disk is called: e Pl it
(A) Floppy Disk L33# (B)C.D (3¢ (C) Monitor =" (D) Storage Disk L i{us

{8) The sound having frequency greater than 20 kHz is called:

(AVEC.G oy (B) Uitrasound %312 (CVEEEG J-dI-Jl
(9) Air traffic is controlled by:

(A) Laser ./ (B) Orbit L (C) Satellite = B~
(10) Epilepsy is diagnosed by:

(A) Angiography [}l/’;gfi (B) MR.I. GLJT_:&: {CIEEG (S35

(11) Mass number of Helium is:

(A) 4 (B) 3 (C) 2
(12) SUPARCO was established in:
(A) J* 1959 (B) Ut »1980 (C) L~ #1961

(13) One British Thermal Unit is 2qual to how many Jouies?
(A) J#z 1055 Joule (B} J# 1050 Joule (C) J# 1045 Joule
(14) The traditional method of producing of Electricity is:

e Qlifestic 20 kHz ST
D)y MR ST
e PP PN,
(D} Radar /3.
--eJ%Ja‘J%ﬁUJ/

(D) C.T.Scan o 0-
e b A

(D) U 1982
?‘Lt“m:‘.c&dﬁzf.:ﬁz’x)/;j,cug
(DY J# 1040 Joule

_c‘._.gﬁf:ﬁ:luﬁ._ﬁﬁg,ré

(A) Solar Power s (B) Thermal power sy /#  (C) Wind power s} s (D) Tidal power s /¥t
(15} Which type of energy is gained from Nuclear Fission? ?q:ﬂJ_er”lpd)fJ(:’u/a.ugﬁgf

(A) Light energy 31055 (B) Chemical eneray §/1LE<

(C) Heat energy G107 (D) Electrical energy A 421

42(0bj)( ‘ﬁ(‘ﬁr*‘iﬁ';-zom(spﬁ@’) (MULTAN)
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